

5) $f(x) = \operatorname{arctg} e^x - \log \sqrt{\frac{e^{2x}}{1+e^{2x}}} = \operatorname{arctg} e^x - \frac{1}{2}(\log(e^{2x}) - \log(e^{2x}+1))$
 $f(x) = \operatorname{arctg} e^x - \frac{1}{2}(2x - \log(e^{2x}+1)) = \operatorname{arctg} e^x - x + \frac{1}{2} \log(e^{2x}+1)$

- 1) $D_f = \mathbb{R}$
- 2) $f(0) = \frac{\pi}{4} + \frac{1}{2} \log 2$
туле источник ???
- 3) ну/ну/ну
- 4) вертикальные асимптоты

косе и хор: $f(x) = \operatorname{arctg}(e^x) - x + \frac{1}{2} \log(e^{2x} + 1) + \frac{1}{2} \log(1 + e^{-2x})$
 $= \frac{\pi}{2} - \operatorname{arctg}\left(\frac{1}{e^x}\right) + \frac{1}{2} \log\left(1 + \frac{1}{e^{2x}}\right)$, $x \rightarrow +\infty$
 $= \frac{\pi}{2} - \left(\frac{1}{e^x} + o\left(\frac{1}{e^x}\right)\right) + \frac{1}{2} \cdot \left(\frac{1}{e^{2x}} + o\left(\frac{1}{e^{2x}}\right)\right)$
 $= \frac{\pi}{2} - \frac{1}{e^x} + \frac{1}{2e^{2x}} + o\left(\frac{1}{e^x}\right)$, $x \rightarrow +\infty$
 $= \frac{\pi}{2} - \frac{1}{e^x} + o\left(\frac{1}{x}\right)$, $x \rightarrow +\infty$

$\operatorname{arctg}(e^{-x}) = \operatorname{arctg}\left(\frac{1}{e^x}\right)$

$\sqrt{o\left(\frac{1}{e^x}\right) = o\left(\frac{1}{x}\right)}$

доп: $\lim_{x \rightarrow +\infty} f(x)e^x = 0$
 $\Rightarrow \lim_{x \rightarrow +\infty} f(x) = 0$

$\lim_{x \rightarrow +\infty} f(x) = \frac{\pi}{2}$ и график источника

$\sqrt{o(e^{2x}) = o\left(\frac{1}{x}\right)}$, $x \rightarrow \infty$

$f(x) = \operatorname{arctg}(e^x) - x + \frac{1}{2} \log(1 + e^{2x})$, $x \rightarrow -\infty$
 $= e^x + o\left(\frac{1}{x}\right) - x + \frac{1}{2} \left(e^{2x} + o\left(\frac{1}{e^{2x}}\right)\right)$
 $= e^x - x + o\left(\frac{1}{x}\right)$, $x \rightarrow -\infty$

$\lim_{x \rightarrow -\infty} f(x)e^x = 0$
 $\Rightarrow \lim_{x \rightarrow -\infty} f(x) = 0$

$y = -x$ је коса а. кас $x \rightarrow \infty$, график источника!

5) $f'(x) = \frac{e^x - 1}{1 + e^{2x}}$

за $x < 0$ је $f' < 0$
за $x > 0$ је $f' > 0$

f'	-	+
f	↘	↗

$f(0) = \frac{\pi}{4} + \frac{1}{2} \log 2 > 0$ локални мин
ам и додатки!

$f(x) > f(0) \forall x \in \mathbb{R} \setminus \{0\}$

6) $f''(x) = \frac{-e^x}{(1+e^{2x})^2} (e^{2x} - 2e^x - 1)$
 $= \frac{-e^x}{(1+e^{2x})^2} ((e^x)^2 - 2e^x - 1)$

$t^2 - 2t - 1 = 0$

за $e^x \in (0, 1 + \sqrt{2})$ је < 0

за $e^x \in (1 + \sqrt{2}, +\infty)$ је > 0

за $x \in (-\infty, \ln(1 + \sqrt{2}))$ је < 0

за $x \in (\ln(1 + \sqrt{2}), +\infty)$ је > 0

$t_{1,2} = \frac{2 \pm \sqrt{4+4}}{2} = \frac{2 \pm 2\sqrt{2}}{2} = 1 \pm \sqrt{2}$

f''	+	-
f	∪	∩

$e^x > 0$

$\ln(1 + \sqrt{2}) < 1$

$\ln(1 + \sqrt{2}) \ll 1$

f''	+	-
f	∪	∩